
2 4 3
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3x , + 2x2 <6

5x +1 5 ),lO

x1 + ‘0x2 > 9

5x 1+ 5 > '10

x, + 10x2 > 9
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c I loq,+ 2Qq2  4 err,+ oa2 4 on3 4 nA, 4 MA2 4 y

9q, 4 h, - +81 A, = la

4q,46q2  -e2+A2  P 1 2

29,  4 8q2 -e +A=  8
3 3
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The Big  PI Method

Al
s 18 - 94, - 6s, + 'I

A2 rs  12 - 4q,  - 69, + ~~

A3 = a - aq,  - uq2 + B3
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C r los, + 2%, 4 oa, 4 os2 4 08) 4 M (18 - 9s,-6q2+ sl) +

~(12 - bq, - 69, + s2) + ~(8 - 2q, - 8q2 + "3)

P - (15H - lO)q,  - (EOM - 20)q2 4  “8,  4  Ma2  + -3 + 38M

c 4  (1% - 1019,  4  (20H -20)q2 - ns, - MS2 - "is3 r 38 H

%q + 69, - ol 4  A, = 18

% + 69, - a2  + ~~ i 12

a, 4 9% -6 3 +A 3 P 8



rluuaq’lun1r,Jiurn’a~~~~q~  Pirot  coLumn

1
(T?d*dr;ll!?km 4

?mld  I B~fo  C 81 82 53 *1 A2 A3 Conetut trot ratie

rou 0 C 1 (1!5&10)(2Cn-20)  -)I a -II 0 0 0 ml

rov 1 Al 0 9 6 -lo 0 1 0 0 18 18 I 3
b

row 2 A2 0 4 6 0 -l 0 0 1 0 12 12 I 2
'b

l * row 3 **3
0 2 @oo-100 lb lpi"

-fhuJY'n9?n1ll
N

Fivot column Ip
m

v
fll?lJ  II BMiO  c q, q2 6, 82 s3 A, A2 A3 Constut test ratie

row 0 = row O(1) - (ZOM-20)  row 3(X1)  C L(lOlb5) 0 4 -n '$4-4'  0 0 -f (20%20)  18x + 20

row 1 = row +(I) - 6 row 3(x1) CA , 0 1 O-10
@ #

1 0 - 4 12 +22  1.6'.

row 2 z row 2(1) - 6 row 3(1x) A2 0
#

0 0 -1
f O=

- 4 6 &a'2.4
2

l * row 3 = row 3 (I) 92 0 p 10 1 4
s



?irot  Colum
1

mm III

row 0 - row O(I1) - (lObI  - 5) row 1(11X)

**row 1 I row l(I1)  x 2
13

row 2 = row 2(11)  -
3

row l(II1)

row 3 = row 3(11)
- ; roy lml)

n-m?4  IV

row 0 = row O(II1) - (1H -2) row E(IV)
I

row 1~ rev 1(X11)  - 1 row 2(IV)
-lu

**row 2 E row 2(11X) x 2

row 3 I row f(111) +
24

rov 2 (IV)

1
.
I

I
.

1asir

C

01

+A2.

92

weir

C

9.1

iS 3

92

C 9.1 92

1 0 0

0 1 0

0 0 0

0 01

c ?, ?2

io 0

0 1 0

00 0

0 0 1

$1 S2 S3 % A2 "3

33
?I-2)  4 ($H-2)  - 2(10&5) 0 -( n-2

75 f

-2 0 1
13

0 - 1
15 1; 1u

*-Y9 -l l-f3

Pivot COllmx

1

5
-b o

++9
+I-4) -I

2 4 O 4 3 O

3 -2 1 -2 3 2-1

1; 2 O -2 4 d O

:onet1

2n+21

:

2

f

:onstant

36

t teat ratio

8+1,16
3 a

:eat  ratie



nifw E

IQ" 0 = l-0" 0 (IV) - 2 ro1 2 (V)
3

ro" 1 r ro" 1 (IV) + 1 row 2 (V)
3

I-." 2 = row 2 (IV) x 3
I

row 3 a ro1 3 (IV) - 2 row 2 (V)
13

91 0 1 0  0 -2
3 14

O G - 3
l b

s, 0 0 0 1 -3 1 - 1 3 -3
2 'i

92 0 0 1 0 1-l 0
la 3 ii ;

carstant  test ratio
I

32

';

I/



2 5 1

z = -5x, + 6x, + 8x; osl+oS2’  MI,  - Iu2

x, + 5x2 - 3x 3 - s, + A, = 15

5x1 - 6x,  + 10x3 + s2 = 25

x1 + x2 + x3 + A2 = 5

x1* x2*x3t  sq* s2*  Aqt  A2 > 0



LhdBJWLl?tll5UltY  di

z- (W - 5)x, - (6~ + 6)x, - (8-2~)~~ + MS, + os2

x, + 5x2 - 3x
3

- S, + A,

SX, - 6x2 + 10x3 + s2

xl + x2 + x3 + A2

x,9 x2' x39 s,s  S2e $9 A2 > 0

= -20 H

I 15

= 2s

= 5



2
5
3

0
0

0
t-4

0
e-4

0
0

0
0

v-l
0

x
q

0
0

l-4
 

0
 

0
 

0

0
 

0
0

rl

0
 

0
d

0

w
-3



2
5
4

l-4
0

” 
”

l-l 
N
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mx x0  = 6x, + lox2

3x, + 4x2 < 12

x1 + 2x 2 46

x19 59 2 0

xo = 6x1 + 10x2 + OS, + OS,

xO - 6x, - 10x2  + OS, + OS2 =o

3x, + 4x, + s, = 12

x, + 2x2 + s 2 ~6

Xl' 59 a,. s2  > 0

BMiE

X0

%

iCs2

d.. 1
x1 X2nl

I
s1 S2 I

b

:” 1
0 3 4 1

I
0 1 ,@, 0 1 6)

Q/4=  3*

6/2 = 3,
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DaBi8  x i x
0 1 2

xo l -1 0

l % O 0 10
x2 O l/2 1

I I

Bada X0 5 X2 81 s2 b

xo l 0 0 1 3 w

x1 O 1 0 1 -2 0

x2 O 0 1 42 3'2 3



2 5 8

fh?a~'bli  21  I$$47  'panporary  Degenerate Sohtion

Max X0 = 3x1 + x2

6x, + 3x, < 18

6x, + x2 < 12

6x, - x2 < '2

Xl * 5 > 0

xO - 3x1- x2 + os1+os2 +os3 = 0

6x1 + 3x2 + s1 P 18

6x, + x2 +s 2 P 12

6x, - x2 +s 3 = 12

vi7213  tfwl

I*
Basis  X0 5 x2

xO 1 -3 -1

5 O 6 3

c-s 2 O @ l

s3 O
6 -1

s2 s3

I
I

-A-----
0

18 18 = 3
T

12/ - 2
l

12 6

12 72/6P  2

I



2 5 9

10 'II,

0 0 0

0 1 l/6

0 0 - 2

s1 s2 S3

0 1t2 0

1 -1 0

0 qj 0

0 -1 1

3ad.s

xO

x2

x1

s3

X0 5 X2

10 0

0 0 1

0 10

0 0 0

s1 s2 s3

114 l/b 0

112 -u2 0

-1112 1'4 O

1 - 2 1

b

b

15i2

3

312

6

612 m 3

2x; = 12



Max x0 - 3x1 + x2

nwlK&?in  x1 - x2 .& 20

2x1 - x2 < 50

5’3 >o
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3x1+x2 = 30
2 0

10

0

Max x0 P 7x1  - 2.15x2

nTJlGh%l -4x1 2x2 ( 6

3=1 s 6

3’3 20
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t

1X 1
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Max x0 - 2x1 +4x2

n7u~fYh?fY~ lx1 + 2x2 ,< 6

35 + 4x2  Q 16

39x2  >/o

6

I
3x1 + 4x2  = 16

x. + 2x,  = 6
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4. t-&hhua~xs  ( Non - existing Feasible Solution )

Max  x0 - 4x1 + 5x2

mol&o"lKn 2x1 + 3x2 ( 6

5x1 + 4x2 > 28
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2 7 0

mid  1 4ddnw  2 ihiif 3

5

4

5



2 7 1

lfwlu  1 2 . 0 1.5 1.8 500 3 . 0

‘i T34lU  2 1.8 1.6 2.0 400 3 . 5

lT4W  3 I*5 1.8 1.9 500 3 . 2 1

lJqluml 350 400 450
(vrU?U)

I

r~“lmuna 5.6 5 . 8 6.0
MU3u(Ul111)
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